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LED to R580 at 1100 V Oct 5, 2006
the neutral density filter is supposed to be 1/1000
( density 1+0.5 +0.5+0.5 +0.5)
1 mV ns =2 x 10-14 Coulomb
5500 (mV-ns) = 11x10-11 Coulomb,
with *1000 this is 110 x 10™-9 Coulomb
LED width in peak base shape area
Nichia
45 200 45 trap 5500 (mV-ns)
30 150 30 tri 2250
24 70 24 tri 840
20 50 20 tri 500
D-K 1500
45 45 45 trap 1575
30 45 28 trap 660
20 30 18 tri 270
Cascade
45 450 40 trap 12500
30 400 25 trap 6000
20 50 15 tri 375

Note: It may be that the apparent better light output from Nichea and Cascade ( 3 mm
dia) compared to Digi-Key (5 mm dia) is due to the LED diameter affecting the
coupling to the fiber.



